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ATH KN6+ INDOOR SEISMIC ANCHORAGE (ASCE 7-16/IBC 2000)
Slab on Grade Applications Only

Equipment Parameters:

weight, W, =| 1327.78 [LBS.
w=[ 34.13 [in.

L=[ 66.16 [in. ®
h=| 7153 [in. = c.g. N
cg=| 30.63 [in.

g

Seismic Parameters:

Ss=| 1.800 |ASCE 7-16 Figure 22-1 using 84th percentile value Site Class = ‘ D =
a,=[ 1.000 |(ASCE 7-16 Table 13.6-1) o
l,=] 1.500 [(ASCE 7-16 Table 13.1.3) Seismic Use Group = | v -

R, =| 1.500 |(Default value for Anchorage per ASCE 7-16 13.6-1)
Fa=| 1.032 |(ASCE 7-16 Table 11.4-1)
Swus = Fa*Ss 1.858 |(ASCE 7-16 Eqn. 11.4-1)
Sps =2/3*Sys 1.239 [(ASCE 7-16 Eqn. 11.4-3)

Seismic Design Category =| D

Seismic Force:

Fo = (0.4*a,*Sps*W,)/(Ry/lp) =| 658.0 |LBS. (ASCE 7-16 Egn. 13.3-1)
Upper Limit: Fpyax = 1.6*Spg*l,*W, =| 3948.1 |LBS. (ASCE 7-16 Eqgn. 13.3-2)
Lower Bound: Fpyn = 0.3*Spg*l,*W, =|  740.3 |LBS. (ASCE 7-16 Eqgn. 13.3-3)

Fpo, DESIGN = LBS.
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ATH KN6+ INDOOR SEISMIC ANCHORAGE (ASCE 7-16/IBC 2000)

Design Anchorage Force:

Horizontal Shear Force Per Anchor:

Ru=Fy4=] 1851 |LBs.

Overturning Resistance About Point A:

lP p NN

\

x = lesser of Lor h

9

\PT. A

Mor = Fpy*cg =| 22670.7 |LBS.-FT.
Mges = Wp*x/2 = 43920.5 |LBS.-FT. OK, No Uplift

Vertical Acceleration: assume p=1.0

Ev = p*Fp + 0.2*Sps*W =[  514.1 |LBS. (IBC Eqn. 1617.1.1)
Runerur = (Morl(2"))-(Wy/4)+(Evi4) <[ 0.0 |LBS.  No Uplfit

Force Summary Per Corner:
Component Anchorage:

Runer = 185.1 |LBS.
Runetup = 0.0 LBS.

Anchors Embedded in Concrete or CMU:

1.3*Ry*Runer =] 360.9 |LBS. (IBC 1617.1.7 #2)
L.3*Ry*Runetup = 0.0 LBS. (IBC 1617.1.7 #2)




